Reset

e._reset B
e.e.X_ack_confirm._y
e.e.Xarb.arbs[0]._y1 arb
e.e.Xarb.arbs[0]._y2_arb
e.e.Xarb.arbs[0].arbiter. y1
e.e.Xarb.arbs[0].arbiter._y2
e.e.Xarb.arbs[0].or_cell._y
e.e.Y_ack_confirm._y
e.e.Yarb.arbs[0]._y1 arb
e.e.Yarb.arbs[0]._y2 arb
e.e.Yarb.arbs[0].arbiter._y1
e.e.Yarb.arbs[O].arbiter._y2
e.e.Yarb.arbs[0].or_cell._y
e.e._arb_out x.a

e.e. arb out x.r
e.e._arb out y.a
e.e._arb_out_y.r

e.e._in_x v

e.e._in_xy_v._.y

e.e. in_ xy v.y

e.e._inyyv

e.e._reset BX

e.e._reset BXX[0]

e.e. X a

ee. x aB

e.e. X Vv

e.e. x v B

e.e.buf_s func._in_vX
e.e.buf s func._in_vXX_f[0]
e.e.buf s func._in_vXX t[0]
e.e.buf_s func._out_a_B
e.e.buf s func. out a BX f[0]
e.e.buf s func. out a BX t[0]
e.e.buf s func._reset BX
e.e.buf s func. reset BXX[0]
e.e.buf s func.f_buf func[0]. y
e.e.buf s func.f buf func[l1]. y
e.e.buf_s_func.in_v_buf f.bufl. y
e.e.buf s func.in_v_buf t.bufl. y
e.e.buf s func.in_v_prebuf. y
e.e.buf s func.out a_B buf f.bufl. y
e.e.buf s func.out a B buf t.bufl. y

e.e.buf s func.reset buf. y

e.e.buf s func.reset_bufarray.bufl. y

e.e.buf s func.t buf func[0]. y
e.e.buf s func.t_buf func[l]. y
e.e.reset buf. y

e.e.reset bufarray.bufl. y
e.e.vtree x.OR2_tf[0]. y
e.e.vtree x.ct.b._y
e.e.vtree_x.ct.in[0]
e.e.vtree y.OR2 tf[0]. vy
e.e.vtree y.ct.b._y
e.e.vtree_y.ct.in[0]
e.e.x_enc_out.d[0].f
e.e.x_enc_out.d[0].t
e.e.x_encoder.ors_f[0l.b. y
e.e.x_encoder.ors_t[0].b._ y
e.e.x_req_ortree.or2s[0]. y
e.e.y_enc_out.d[0].f
e.e.y_enc_out.d[0].t
e.e.y_encoder.ors_f[0l.b. y
e.e.y_encoder.ors_t[0].b._ y
e.out.a

e.out.d.d[0].f

e.out.d.d[0].t

e.out.d.d[1].f

e.out.d.d[1].t

e.out.v

e.x[0].a

e.x[0].r

ex[1l].a

ex[1].r

e.y[0]l.a

e.y[O].r

e.y[ll.a

e.y[1ll.r

[1 Setting output ack/val low

Reset

e._reset B
e.e.X_ack_confirm._y
e.e.Xarb.arbs[0]._y1 arb
e.e.Xarb.arbs[0]._y2_arb
e.e.Xarb.arbs[O].arbiter. y1
e.e.Xarb.arbs[0].arbiter._y2
e.e.Xarb.arbs[0].or_cell. y
e.e.Y_ack_confirm._y
e.e.Yarb.arbs[0]._y1 arb
e.e.Yarb.arbs[0]._y2 arb
e.e.Yarb.arbs[0].arbiter._y1
e.e.Yarb.arbs[O].arbiter._y2
e.e.Yarb.arbs[0].or_cell._y
e.e._arb out x.a

e.e. arb out x.r
e.e._arb out y.a
e.e._arb_out_y.r

e.e._in_x v

e.e._in_Xxy_v._y

e.e. in_xy v.y

e.e._iny.v

e.e._reset BX

e.e._reset BXX[O0]

e.e. X a

ee. x alB

e.e. X Vv

e.e. x v B

e.e.buf_s func._in_vX
e.e.buf s func._in_vXX_f[0]
e.e.buf s func._in_vXX t[0]
e.e.buf_s func._out_a_B
e.e.buf s func. out a BX f[0]
e.e.buf s func. out a BX t[0]
e.e.buf s func._reset BX
e.e.buf s func. reset BXX[O0]
e.e.buf s func.f buf func[0]. y
e.e.buf s func.f buf func[1]. y
e.e.buf_s func.in_v_buf f.bufl._y
e.e.buf s func.in_v_buf t.bufl. y
e.e.buf s func.in_v_prebuf. y
e.e.buf s func.out a_ B buf f.bufl. y
e.e.buf s func.out a B buf t.bufl. y
e.e.buf s func.reset buf. y
e.e.buf s func.reset_bufarray.bufl. y
e.e.buf s func.t_buf func[0]. y
e.e.buf s func.t_buf func[1l]. y
e.e.reset buf. y

e.e.reset bufarray.bufl. y
e.e.vtree_x.OR2_tf[0]._y
e.e.vtree x.ct.b._y
e.e.vtree_x.ct.in[0]
e.e.vtree_y.OR2 tf[0]. y
e.e.vtree y.ct.b._y
e.e.vtree_y.ct.in[0]
e.e.x_enc_out.d[0].f
e.e.x_enc_out.d[0].t
e.e.x_encoder.ors_f[0l.b. y
e.e.x_encoder.ors_t[0].b. y
e.e.x_req_ortree.or2s[0]. y
e.e.y_enc_out.d[0].f
e.e.y_enc_out.d[0].t
e.e.y_encoder.ors_f[0l.b. y
e.e.y_encoder.ors_t[0].b. y
e.out.a

e.out.d.d[0].f

e.out.d.d[0].t

e.out.d.d[1].f

e.out.d.d[1].t

e.out.v

e.x[0].a

e.x[0].r

e.x[1].a

e.x[1].r

e.y[0].a

e.y[0].r

e.y[ll.a

e.y[1ll.r



